[ Efficiency vs vertpos |
~ 0.05

9.045
4
20.04
(8]
$.035
(&)
£0.03
0.025
0.02
0.015
0.04

.................................................

.................................................

.................................................

.................................................

ﬁ
i
e

0.005F- {f--tf-i-- Lo F b o

o 10 L L ||! L

*"6' .

o T o Y R SRR P R O A Y R R 3 "5 ..............
11 0.0 St A - L., i

e AL A RRRRN R RRN R RNl RARRN RARR LARLE RRRRN LRR

1072 10 1 10 0?
TP vertr (cr%)

MKEIT_T 1base
mkFit_TT _retrainOldFiles125_v2_prelimWP_5iter

DOM
DOM )
ici DQM_mkFit_TT baseline_6iter
Efficiend = pSM mkFit TT Retrainv WP2 6iter

~ 0.05 T T T T
R T S

» = : . : : :
Z0.04F oreobeenenss e
o E : : : : :
D.035F -+ besferfieeeeenes Beeneeedenenes P
1=} E H H H H
£ 0.03F--eerieferfrdre b
[©] o : : : :
R | SRR S SR T
0.02F -+ chefe oo b o]
0.015F =it I oo b
0.01-++--i-{{kl- # ------ e {
E ot
0.005f | LA % .
O:l PR | I P MM IS BT E R A B A N AT
o OF : : : ;
o SRR i O C
x [ : : ol : :
0.9F------- 1
°%35 =0 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.01
>
80.009
5008
$.007
>
3.006
@
£.005
(]
0.004
0.003
0.002
0.001}

0
il

Ratio

0.9

Sim. PV z (cm)



	Contents
	Page 1


